Honors Physics Test - Ch. 2a -nniform acceleration -
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1. How many seconds does 1t take a radio message to reach Bars? The radio signals travel at a constant s=locity
af 293 x 10" mfs the whele trip. The distance to Marsis 228 = 10" . Hinematic s Equations
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2. A jet traveling 15.5 mfs acoelerates to 136 m's =t an acceleraton of 7.95 m's”. [2) Solve for the displacement
naing algehra without suhshnitng mymhers or wats. (h) Evhatmite the walues mto part *a" and salve for the

Asplacerrent.
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1 & hall hit the wall 2t 38 7 m's and bounced back  I1fthe callisinn lasted 4,85 = 107 zeconds, and the hall'=
seceleranonis 1% = 10 mis®, atwhat welocty did it bounce back? (a) Solve for the welocity wsmg algebrs
without substihshng numbers or umbs. (b)) Subsbhate the velies mto part *&" and solve for the velocdy,
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4. A ragid franst car accelerates at 2,05 m's® and covers 600 min 10.3 5. What i5 its zubial velocdy? (2] Solve
for the selocity using algebra without subshhinng mumbers or units. (b)) Substtute the values into part *a” and

salire for the relocity 2
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5 /A train going & m's accelerates =t 015 m's . How long doss i take to cover 2500 msters?
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[EC % gts) Af the instant & trafhic light fams green, & car srarts from rest with a constant acceleeation of 225 mee™.
Abthe same mataat, a fuck going the same dirschon at a constant 22,0 ooz 15 et o the car (2) How Bar
froen the starhng powt wwill the car catch the truck Che next to £)7 (b What will the car's velocity be at thas
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